

Meher Jaban; Sinha Sneha Bala
Some infinite sums identities

Czechoslovak Mathematical Journal, Vol. 65 (2015), No. 3, 819–827

Persistent URL: <http://dml.cz/dmlcz/144445>

Terms of use:

© Institute of Mathematics AS CR, 2015

Institute of Mathematics of the Czech Academy of Sciences provides access to digitized documents strictly for personal use. Each copy of any part of this document must contain these *Terms of use*.



This document has been digitized, optimized for electronic delivery and stamped with digital signature within the project *DML-CZ: The Czech Digital Mathematics Library* <http://dml.cz>

SOME INFINITE SUMS IDENTITIES

MEHER JABAN, Bengaluru, SINHA SNEH BALA, Allahabad

(Received August 19, 2014)

Abstract. We find the sum of series of the form

$$\sum_{i=1}^{\infty} \frac{f(i)}{i^r}$$

for some special functions f . The above series is a generalization of the Riemann zeta function. In particular, we take f as some values of Hurwitz zeta functions, harmonic numbers, and combination of both. These generalize some of the results given in Mezó's paper (2013). We use multiple zeta theory to prove all results. The series sums we have obtained are in terms of Bernoulli numbers and powers of π .

Keywords: multiple zeta values; multiple Hurwitz zeta values

MSC 2010: 11M32, 11M36

1. INTRODUCTION

For $s > 1$, the Riemann zeta function is defined by

$$\zeta(s) = \sum_{n=1}^{\infty} \frac{1}{n^s}.$$

The values of $\zeta(s)$ at integers have attracted many mathematicians. The values of $\zeta(s)$ at odd positive integers are quite mysterious. The only proper result in this direction is about the irrationality of $\zeta(3)$. However, at even integers the values of $\zeta(s)$ are well known. The values are in terms of powers of π and Bernoulli numbers. This shows that $\zeta(2i)$ is transcendental for any positive integer i . The n th Bernoulli number B_n is a rational number defined by the power series expansion

$$\sum_{n=0}^{\infty} B_n \frac{t^n}{n!} = \frac{t}{e^t - 1}.$$

The Hurwitz zeta function which is a generalization of the Riemann zeta function is defined as

$$\zeta(s; a) = \sum_{n=0}^{\infty} \frac{1}{(n+a)^s} \quad (s > 1; a \in \mathbb{R} \setminus \mathbb{Z}_-),$$

where \mathbb{R} and \mathbb{Z}_- are the sets of real numbers and non-positive integers, respectively. The n th generalized harmonic number of order r is defined as

$$H_{n,r} = \sum_{i=1}^n \frac{1}{i^r}.$$

More generally, if we consider series of the form

$$(1.1) \quad \sum_{i=1}^{\infty} \frac{f(i)}{i^r},$$

it is interesting to find the sum of the above series for some special functions f . The above series is a generalization of the Riemann zeta function. Mező [1] has considered series of the form (1.1) where f are some particular values of Hurwitz zeta function and generalized harmonic numbers. In [1], the sums of various series were computed by applying the Weierstrass product theorem. The aim of this paper is to generalize some of the identities which have been proved in [1] only in particular cases. We use the theory of multiple zeta values to prove our results. The series sums we have obtained are in terms of Bernoulli numbers and powers of π .

2. SERIES ARISING FROM MULTIPLE ZETA VALUES

For $s_1 > 1$ and $s_i \geq 1$ for $2 \leq i \leq r$, the multiple zeta values are defined as

$$\zeta(s_1, s_2, \dots, s_r) = \sum_{n_1 > n_2 > \dots > n_r \geq 1} \frac{1}{n_1^{s_1} \dots n_r^{s_r}}.$$

We have the following identity which generalizes identities 4 and 7 of [1].

Proposition 2.1. *For any positive integer k ,*

$$(2.1) \quad \sum_{i=1}^{\infty} \frac{\zeta(2k; i)}{i^{2k}} = \left\{ \left(\frac{B_{2k}}{2(2k)!} \right)^2 - \frac{B_{4k}}{2(4k)!} \right\} \frac{(2\pi)^{4k}}{2}.$$

Proof. To prove the above identity, we need the following identity for multiple zeta values:

$$(2.2) \quad \zeta(s_1)\zeta(s_2) = \zeta(s_1, s_2) + \zeta(s_2, s_1) + \zeta(s_1 + s_2).$$

Proof of (2.2) is not difficult. The left hand side product is a double sum

$$\sum_{n_1=1}^{\infty} \sum_{n_2=1}^{\infty} \frac{1}{n_1^{s_1}} \frac{1}{n_2^{s_2}},$$

which can be written as

$$\sum_{n_1, n_2=1; n_1 > n_2}^{\infty} \frac{1}{n_1^{s_1}} \frac{1}{n_2^{s_2}} + \sum_{n_1, n_2=1; n_2 > n_1}^{\infty} \frac{1}{n_1^{s_1}} \frac{1}{n_2^{s_2}} + \sum_{n_1, n_2=1; n_1=n_2}^{\infty} \frac{1}{n_1^{s_1}} \frac{1}{n_2^{s_2}}.$$

This proves (2.2). Now, if $s_1 = s_2 = 2k$, then from (2.2) we get

$$(2.3) \quad \zeta(2k, 2k) = \frac{\zeta(2k)^2 - \zeta(4k)}{2}.$$

Next, we recall the famous theorem due to Euler on the values of Riemann zeta function at even numbers. We have

$$(2.4) \quad 2\zeta(2k) = (-1)^{k-1} (2\pi)^{2k} \frac{B_{2k}}{(2k)!}.$$

Now

$$(2.5) \quad \zeta(2k, 2k) = \sum_{i=1}^{\infty} \frac{1}{i^{2k}} \sum_{j=i+1}^{\infty} \frac{1}{j^{2k}} = \sum_{i=1}^{\infty} \frac{1}{i^{2k}} (\zeta(2k) - H_{i,2k}) = \zeta(2k)^2 - \sum_{i=1}^{\infty} \frac{H_{i,2k}}{i^{2k}}.$$

Arranging appropriately, we see that

$$\sum_{i=1}^{\infty} \frac{H_{i,2k}}{i^{2k}} = \sum_{i=1}^{\infty} \frac{\zeta(2k; i)}{i^{2k}}.$$

Thus from the above identity, (2.3) and (2.5), we deduce

$$\sum_{i=1}^{\infty} \frac{\zeta(2k; i)}{i^{2k}} = \zeta(2k)^2 - \frac{\zeta(2k)^2 - \zeta(4k)}{2} = \frac{\zeta(2k)^2 + \zeta(4k)}{2}.$$

Applying (2.4) to the above equality, we finally get

$$\sum_{i=1}^{\infty} \frac{\zeta(2k; i)}{i^{2k}} = \left\{ \left(\frac{B_{2k}}{2(2k)!} \right)^2 - \frac{B_{4k}}{2(4k)!} \right\} \frac{(2\pi)^{4k}}{2}.$$

This proves Proposition 2.1. □

Our second result stated below generalizes identities 1 and 8 of [1].

Proposition 2.2. For any positive integer k we have

$$(2.6) \quad \sum_{i=1}^{\infty} \frac{H_{i,2k}}{i^{2k}} \zeta(2k; i) = \left\{ (-1)^{3k-1} \frac{B_{6k}}{(6k)!} + (-1)^{3k-3} \frac{(B_{2k})^3}{8(2k)!^3} \right. \\ \left. + (-1)^{3k-2} \frac{3B_{2k}B_{4k}}{4(2k)!(4k)!} \right\} \frac{(2\pi)^{6k}}{6}.$$

Proof. As in (2.2), it is not difficult to see that

$$(2.7) \quad \zeta(s_1, s_2, s_3) + \zeta(s_1, s_2 + s_3) + \zeta(s_1, s_3, s_2) \\ + \zeta(s_1 + s_3, s_2) + \zeta(s_3, s_1, s_2) = \zeta(s_1, s_2)\zeta(s_3).$$

Substituting $s_1 = s_2 = s_3 = 2k$ in the above equation and using (2.2), we obtain

$$(2.8) \quad \zeta(2k, 2k, 2k) = \frac{\zeta(2k, 2k)\zeta(2k) - \zeta(2k)\zeta(4k) + \zeta(6k)}{3}.$$

Now

$$\zeta(2k, 2k, 2k) = \sum_{i=1}^{\infty} \frac{1}{i^{2k}} \sum_{j=i+1}^{\infty} \frac{1}{j^{2k}} \sum_{t=j+1}^{\infty} \frac{1}{t^{2k}} = \sum_{i=1}^{\infty} \frac{1}{i^{2k}} \sum_{j=i+1}^{\infty} \frac{1}{j^{2k}} (\zeta(2k) - H_{j,2k}) \\ = \sum_{i=1}^{\infty} \frac{1}{i^{2k}} \left(\sum_{j=i+1}^{\infty} \frac{\zeta(2k)}{j^{2k}} - \sum_{j=i+1}^{\infty} \frac{H_{j,2k}}{j^{2k}} \right) \\ = \sum_{i=1}^{\infty} \frac{1}{i^{2k}} \left[\zeta(2k)(\zeta(2k) - H_{i,2k}) - \left(\sum_{j=1}^{\infty} \frac{H_{j,2k}}{j^{2k}} - \sum_{j=1}^i \frac{H_{j,2k}}{j^{2k}} \right) \right].$$

Thus we have

$$(2.9) \quad \sum_{i=1}^{\infty} \frac{1}{i^{2k}} \sum_{j=1}^i \frac{H_{j,2k}}{j^{2k}} = \zeta(2k, 2k, 2k) - \sum_{i=1}^{\infty} \frac{1}{i^{2k}} (\zeta(2k)^2 - \zeta(2k)H_{i,2k}) \\ + \sum_{i=1}^{\infty} \frac{1}{i^{2k}} \sum_{j=1}^{\infty} \frac{H_{j,2k}}{j^{2k}}.$$

Also we have

$$\sum_{i=1}^{\infty} \frac{1}{i^{2k}} (\zeta(2k)^2 - \zeta(2k)H_{i,2k}) = \zeta(2k) \sum_{i=1}^{\infty} \frac{1}{i^{2k}} \sum_{j=i+1}^{\infty} \frac{1}{j^{2k}} = \zeta(2k)\zeta(2k, 2k),$$

and

$$\sum_{i=1}^{\infty} \frac{1}{i^{2k}} \sum_{j=1}^{\infty} \frac{H_{j,2k}}{j^{2k}} = \sum_{i=1}^{\infty} \frac{1}{i^{2k}} \{ \zeta(2k)^2 - \zeta(2k, 2k) \} = \zeta(2k)^3 - \zeta(2k)\zeta(2k, 2k).$$

From (2.9), we also have

$$\begin{aligned} \sum_{i=1}^{\infty} \frac{1}{i^{2k}} \sum_{j=1}^i \frac{H_{j,2k}}{j^{2k}} &= \zeta(2k, 2k, 2k) - \zeta(2k)\zeta(2k, 2k) + \zeta(2k)^3 - \zeta(2k)\zeta(2k, 2k) \\ &= \zeta(2k, 2k, 2k) - 2\zeta(2k)\zeta(2k, 2k) + \zeta(2k)^3. \end{aligned}$$

Using (2.3) and (2.8) in the above identity, we get

$$(2.10) \quad \sum_{i=1}^{\infty} \frac{1}{i^{2k}} \sum_{j=1}^i \frac{H_{j,2k}}{j^{2k}} = \frac{1}{6} \{2\zeta(6k) + \zeta(2k)^3 + 3\zeta(2k)\zeta(4k)\}.$$

Using (2.4) in the above equation, we obtain

$$(2.11) \quad \begin{aligned} \sum_{i=1}^{\infty} \frac{1}{i^{2k}} \sum_{j=1}^i \frac{H_{j,2k}}{j^{2k}} &= \frac{(2\pi)^{6k}}{6} \left[(-1)^{3k-1} \frac{B_{6k}}{(6k)!} + \frac{1}{8} (-1)^{3k-3} \frac{B_{2k}^3}{((2k)!)^3} \right. \\ &\quad \left. + \frac{3}{4} (-1)^{3k-2} \frac{B_{2k}B_{4k}}{(2k)!(4k)!} \right]. \end{aligned}$$

Arranging appropriately, we see that

$$\sum_{i=1}^{\infty} \frac{1}{i^{2k}} \sum_{j=1}^i \frac{H_{j,2k}}{j^{2k}} = \sum_{i=1}^{\infty} \frac{H_{i,2k}}{i^{2k}} \zeta(2k; i).$$

Now using (2.11) and the above identity, we finally obtain

$$\begin{aligned} \sum_{i=1}^{\infty} \frac{H_{i,2k}}{i^{2k}} \zeta(2k; i) &= \frac{(2\pi)^{6k}}{6} \left[(-1)^{3k-1} \frac{B_{6k}}{(6k)!} + \frac{1}{8} (-1)^{3k-3} \frac{B_{2k}^3}{((2k)!)^3} \right. \\ &\quad \left. + \frac{3}{4} (-1)^{3k-2} \frac{B_{2k}B_{4k}}{(2k)!(4k)!} \right]. \end{aligned}$$

□

3. SERIES ARISING FROM MULTIPLE HURWITZ ZETA VALUES

For $s_1 > 1$, $s_1 + s_2 > 1$, \dots , $s_1 + s_2 + \dots + s_r > r$, and $\alpha_1, \alpha_2, \dots, \alpha_r \in \mathbb{R} \setminus \mathbb{Z}$, the multiple Hurwitz zeta function is defined by

$$\zeta(s_1, s_2, \dots, s_r; \alpha_1, \alpha_2, \dots, \alpha_r) = \sum_{n_1 > n_2 > \dots > n_r \geq 1} \frac{1}{(n_1 + \alpha_1)^{s_1} \dots (n_r + \alpha_r)^{s_r}}.$$

For more details on multiple Hurwitz zeta function, see [2]. For $n \in \mathbb{N}$ we define

$$H'_{2n-1,r} = \sum_{i=1}^n \frac{1}{(2i-1)^r}.$$

Our next result stated below generalizes identity 2 of [1].

Proposition 3.1. *For any positive integer k , we have*

$$\sum_{i=1}^{\infty} \frac{\zeta(2k; i - \frac{1}{2})}{(2i-1)^{2k}} = 2^{6k-2} \pi^{4k} \left[\frac{1}{2} \left(1 - \frac{1}{2^{2k}}\right)^2 \frac{B_{2k}^2}{((2k)!)^2} - \left(1 - \frac{1}{2^{4k}}\right) \frac{B_{4k}}{(4k)!} \right].$$

Proof. To prove the above identity, we need the following identity for multiple Hurwitz zeta values:

$$(3.1) \quad \zeta(s_1; \alpha) \zeta(s_2; \alpha) = \zeta(s_1, s_2; \alpha, \alpha) + \zeta(s_2, s_1; \alpha, \alpha) + \zeta(s_1 + s_2; \alpha) + \frac{1}{\alpha^{s_1}} \zeta(s_2; \alpha) + \frac{1}{\alpha^{s_2}} \zeta(s_1; \alpha) - \frac{2}{\alpha^{s_1 + s_2}}.$$

Proof of (3.1) is similar to the proof of (2.2), hence we omit it. Substituting $s_1 = s_2 = 2k$, $\alpha = -1/2$ in (3.1), we obtain

$$(3.2) \quad 2\zeta\left(2k, 2k; -\frac{1}{2}, -\frac{1}{2}\right) = \zeta\left(2k; -\frac{1}{2}\right)^2 - \zeta\left(4k; -\frac{1}{2}\right) - 2^{2k+1} \zeta\left(2k; -\frac{1}{2}\right) + 2^{4k+1}.$$

Now

$$\begin{aligned} \zeta\left(2k, 2k; -\frac{1}{2}, -\frac{1}{2}\right) &= \sum_{i=1}^{\infty} \frac{1}{(i - \frac{1}{2})^{2k}} \sum_{j=i+1}^{\infty} \frac{1}{(j - \frac{1}{2})^{2k}} \\ &= 2^{4k} \sum_{i=1}^{\infty} \frac{1}{(2i-1)^{2k}} \sum_{j=i+1}^{\infty} \frac{1}{(2j-1)^{2k}} \end{aligned}$$

$$\begin{aligned}
&= 2^{4k} \sum_{i=1}^{\infty} \frac{1}{(2i-1)^{2k}} \left\{ \left(1 - \frac{1}{2^{2k}}\right) \zeta(2k) - H'_{2i-1,2k} \right\} \\
&= 2^{4k} \left\{ \left(1 - \frac{1}{2^{2k}}\right) \zeta(2k) \right\}^2 - 2^{4k} \sum_{i=1}^{\infty} \frac{H'_{2i-1,2k}}{(2i-1)^{2k}}.
\end{aligned}$$

Thus from the above identity, we obtain

$$(3.3) \quad 2^{4k} \sum_{i=1}^{\infty} \frac{H'_{2i-1,2k}}{(2i-1)^{2k}} = 2^{4k} \left\{ \left(1 - \frac{1}{2^{2k}}\right) \zeta(2k) \right\}^2 - \zeta\left(2k, 2k; -\frac{1}{2}, -\frac{1}{2}\right).$$

Arranging appropriately, we see that

$$(3.4) \quad 2^{2k} \sum_{i=1}^{\infty} \frac{H'_{2i-1,2k}}{(2i-1)^{2k}} = \sum_{i=1}^{\infty} \frac{\zeta(2k; i - \frac{1}{2})}{(2i-1)^{2k}}.$$

Using (3.4) in (3.3), we get

$$2^{2k} \sum_{i=1}^{\infty} \frac{\zeta(2k; i - \frac{1}{2})}{(2i-1)^{2k}} = 2^{4k} \left\{ \left(1 - \frac{1}{2^{2k}}\right) \zeta(2k) \right\}^2 - \zeta\left(2k, 2k; -\frac{1}{2}, -\frac{1}{2}\right).$$

Now using (3.2), the identity

$$2^{-2k} \zeta\left(2k; -\frac{1}{2}\right) = \zeta(2k) - \frac{\zeta(2k)}{2^{2k}} + 1,$$

and (2.4) in the above equality, we finally obtain

$$\sum_{i=1}^{\infty} \frac{\zeta(2k; i - \frac{1}{2})}{(2i-1)^{2k}} = 2^{6k-2} (\pi)^{4k} \left[\frac{1}{2} \left(1 - \frac{1}{2^{2k}}\right)^2 \frac{B_{2k}^2}{((2k)!)^2} - \left(1 - \frac{1}{2^{4k}}\right) \frac{B_{2k}}{(4k)!} \right].$$

□

Our next result stated below generalizes identity 3 of [1].

Proposition 3.2. *For any positive integer k , we have*

$$(3.5) \quad \begin{aligned}
&\sum_{n=1}^{\infty} \frac{H'_{2n-1,2k}}{(2n-1)^{2k}} \zeta\left(2k; n - \frac{1}{2}\right) \\
&= 2^{8k} \pi^{6k} \left[\frac{(-1)^k}{8} \left(1 - \frac{1}{2^{2k}}\right) \left(1 - \frac{1}{2^{4k}}\right) \frac{B_{2k} B_{4k}}{(2k)!(4k)!} \right. \\
&\quad \left. + \frac{(-1)^{3k-3}}{48} \left(1 - \frac{1}{2^{2k}}\right)^3 \frac{B_{2k}^3}{(2k)!^3} + \frac{(-1)^{3k-1}}{6} \left(1 - \frac{1}{2^{6k}}\right) \frac{B_{6k}}{(6k)!} \right].
\end{aligned}$$

Proof. To prove the above identity, we need the following identity for multiple Hurwitz zeta values, proof of which is similar to the proof of (3.1).

$$\begin{aligned}\zeta(s_1, s_2; \alpha, \alpha)\zeta(s_3; \alpha) &= \frac{1}{\alpha^{s_3}}\zeta(s_1, s_2; \alpha, \alpha) + \zeta(s_1, s_2, s_3; \alpha, \alpha, \alpha) \\ &\quad + \zeta(s_1, s_3, s_2; \alpha, \alpha, \alpha) + \zeta(s_3, s_1, s_2; \alpha, \alpha, \alpha) \\ &\quad + \zeta(s_1 + s_3, s_2; \alpha, \alpha) + \zeta(s_1, s_2 + s_3; \alpha, \alpha).\end{aligned}$$

Substituting $s_1 = s_2 = s_3 = 2k$ and $\alpha = -1/2$ in the above equality and using (3.1), we obtain

$$(3.6) \quad \zeta\left(2k, 2k, 2k; -\frac{1}{2}, -\frac{1}{2}, -\frac{1}{2}\right) = \frac{2^{6k}}{3} \left[\frac{\zeta(2k)^3}{2} \left(1 - \frac{1}{2^{2k}}\right)^3 - \frac{3}{2} \zeta(2k)\zeta(4k) \left(1 - \frac{1}{2^{2k}}\right) \left(1 - \frac{1}{2^{4k}}\right) + \left(1 - \frac{1}{2^{6k}}\right) \zeta(6k) \right].$$

Now

$$(3.7) \quad \begin{aligned}\zeta\left(2k, 2k, 2k; -\frac{1}{2}, -\frac{1}{2}, -\frac{1}{2}\right) &= \sum_{i=1}^{\infty} \frac{1}{(i - \frac{1}{2})^{2k}} \sum_{j=i+1}^{\infty} \frac{1}{(j - \frac{1}{2})^{2k}} \sum_{t=j+1}^{\infty} \frac{1}{(t - \frac{1}{2})^{2k}} \\ &= 2^{6k} \left[\left(1 - \frac{1}{2^{2k}}\right)^3 \zeta(2k)^3 - \left(1 - \frac{1}{2^{2k}}\right) \zeta(2k) \sum_{i=1}^{\infty} \frac{H'_{2i-1, 2k}}{(2i-1)^{2k}} \right. \\ &\quad \left. - \sum_{i=1}^{\infty} \frac{1}{(2i-1)^{2k}} \sum_{j=1}^{\infty} \frac{H'_{2j-1, 2k}}{(2j-1)^{2k}} \right] + 2^{6k} \sum_{i=1}^{\infty} \frac{1}{(2i-1)^{2k}} \sum_{j=1}^i \frac{H'_{2j-1, 2k}}{(2j-1)^{2k}}.\end{aligned}$$

Substituting the values of $\sum_{j=1}^{\infty} H'_{2j-1, 2k}/(2j-1)^{2k}$ and $\zeta(2k, 2k, 2k; -\frac{1}{2}, -\frac{1}{2}, -\frac{1}{2})$ from (3.3) and (3.6), respectively, in the above identity, we deduce that

$$(3.8) \quad \begin{aligned}\sum_{i=1}^{\infty} \frac{1}{(2i-1)^{2k}} \sum_{j=1}^i \frac{H'_{2j-1, 2k}}{(2j-1)^{2k}} &= \frac{1}{2} \zeta(2k)\zeta(4k) \left(1 - \frac{1}{2^{2k}}\right) \left(1 - \frac{1}{2^{4k}}\right) \\ &\quad + \frac{1}{3} \left[\frac{1}{2} \left(1 - \frac{1}{2^{2k}}\right)^3 \zeta(2k)^3 + \zeta(6k) \left(1 - \frac{1}{2^{6k}}\right) \right].\end{aligned}$$

Also arranging appropriately, we see that

$$\sum_{i=1}^{\infty} \frac{1}{(2i-1)^{2k}} \sum_{j=1}^i \frac{H'_{2j-1, 2k}}{(2j-1)^{2k}} = 2^{-2k} \sum_{i=1}^{\infty} \frac{H'_{2i-1, 2k}}{(2i-1)^{2k}} \zeta\left(2k; i - \frac{1}{2}\right).$$

Now using the above identity and (2.4) in (3.8), we finally obtain

$$\begin{aligned}
 (3.9) \quad & \sum_{n=1}^{\infty} \frac{H'_{2n-1,2k}}{(2n-1)^{2k}} \zeta\left(2k; n - \frac{1}{2}\right) \\
 &= 2^{8k} \pi^{6k} \left[\frac{(-1)^k}{8} \left(1 - \frac{1}{2^{2k}}\right) \left(1 - \frac{1}{2^{4k}}\right) \frac{B_{2k} B_{4k}}{(2k)!(4k)!} \right. \\
 & \quad \left. + \frac{(-1)^{3k-3}}{48} \left(1 - \frac{1}{2^{2k}}\right)^3 \frac{B_{2k}^3}{(2k)!^3} + \frac{(-1)^{3k-1}}{6} \left(1 - \frac{1}{2^{6k}}\right) \frac{B_{6k}}{(6k)!} \right].
 \end{aligned}$$

□

Acknowledgement. We would like to thank Prof. Ram Murty for useful discussions. We also thank the referee for useful suggestions which improved the presentation of the paper.

References

- [1] *I. Mezö*: Some infinite sums arising from the Weierstrass product theorem. *Appl. Math. Comput.* **219** (2013), 9838–9846.
- [2] *M. R. Murty, K. Sinha*: Multiple Hurwitz zeta functions. *Multiple Dirichlet Series, Automorphic Forms, and Analytic Number Theory* (S. Friedberg et al., eds.). Proceedings of the Bretton Woods workshop on multiple Dirichlet series, Bretton Woods, USA, 2005, *Proc. Sympos. Pure Math.* **75**, American Mathematical Society, Providence, 2006, pp. 135–156.

Authors' addresses: Meher Jaban, Department of Mathematics, Indian Institute of Science, 560012 Bengaluru, Karnataka, India, e-mail: jaban@math.iisc.ernet.in; Sinha Sneha Bala, Department of Mathematics, Harish-Chandra Research Institute, Chhatnag Road, 211019 Jhansi, Allahabad, Uttar Pradesh, India, e-mail: snehbala@hri.res.in.